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MASTER OF ARTS (ECONOMICS) 
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MEC-008 : ECONOMICS OF SOCIAL SECTOR 
AND ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from both sections as per instructions. 

SECTION-A 

Answer any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Critically examine the effect of regulation in an 
economy. 

2. The population biology of a fishery is given by 
F (x) = ax — bx2  where x is the stock and F (x) is 
the growth. Find the maximum sustainable yield 
(MSY) and its corresponding population. 

3. Explain how the rate of pollution tax is decided 
under ideal conditions. 

Explain the procedure adopted by denison to 
establish that education is a form of human 
capital. 
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SECTION-B 

Answer any five questions from this section in 

about 250 words each : 
	 5x12=60 

5. Why is economic growth essential ? Does a rise in 

national income mean an all-round well-being of 

everyone in an economy. 

6. Explain the importance of natural resources for 

development. 

7. Explain the concept of pareto optimality why is it 

an important criterion ? 

8. Explain the implications of the fundamental 

theorems of welfare economics. 

9. In the context of Green Accounting, why is SEEA 

considered an improvement over conventional 

SNA ? 

10. Explain with example how 'tragedy of the 

commons' occurs ? 

11. Briefly describe the alternative methods for 

measuring the economic value of education. 

12. The linkage of health with development is a two-

way process. Discuss. 
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